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!���" ���
� ���
����� #

+�� ��� 
� � ����� �	 ��� ��� � �	 � ��(�
�
�� � ���

����	 ��� ������
����
� 
 	 � ������� � �	 �	 �����	 �	

)
 ���
 !��� �*��� ��� ��	 
� ���
��	 
 ����� ��
 � � �	 �

�����
���������
 !���D �
������ ������	 �	 ������
�� �

� ��� 	 ��	 
�!��� ���� 	 �
����
 ��
�
� � ���� )��
�� �*

���
����	 ���"���� � ��(�
�
�� � ��	 � ���� � � ��	 �

� ������ ������
��� ��	 � ���� ��
�������

������� 	
 3��	 ����	 

√

10�

��	 � � �	 ���
���
√

9 <
√

10 <
√

16 � 	 ���	

���
����3 <
√

10 < 4�;	 ����� ��	 
� ��	 � ���	 5�

3��	 ����	 � � 
 	 �	 ��	 ��	 �� 
 ��� ���
��	 �����	 3.a
��
� 
� 0 < a < 9 ��� �	 � ��
 �� � � �	 ������

x 5 5�, 5�: 5�5 5�? 5�/

x2 2 �
�	 	�
�� ,.�92 ,,�/= ,:�:/

x 5�= 5�C 5�9 5�2 ?

x2 ,:�2= ,5�=2 ,?�?? ,/�:, ,=

3� �	 ����� ����� � �	 ���
���

3.1 <
√

10 < 3.2.

<	 �	 ��	 ���� � 
 ������� �	 ����� ����
��!��
� �	 ������

����� 
����
�	 ���
��!��� � ��	 ��	 �� �����!�� �	 �

��������	 ���	 �������� 	 ��	 � 
�
 �	 �'

: ���� ���
��
������;���� 
	 (��	 <*�	 
'�� ��=��	 ����

���



����� ���� 	 	
������
	

x 5�, 5�,, 5�,: 5�,5 5�,? 5�,/

x2 2�=, 2�=C: 2�C5? 2�C29 2�9= 2�2::

x 5�,= 5�,C 5�,9 5�,2 5�:

x2 �
��� 	�
��� ,.�,,: ,.�,C= ,.�:?

3� �	 ����� ����� � �	 ���
���

3.16 <
√

10 < 3.17.

-�	 ����� ��	 ���� � ��	 � ���� ��
�!�����'

x 5�,= 5�,=, 5�,=: 5�,=5 5�,=? 5�,=/

x2 2�29= 2�22, �
��� 	�
��� ,.�.,, ,.�.,C5

x 5�,== 5�,=C 5�,=9 5�,=2 5�,C

x2 ,.�.:? ,.�.5 ,.�.5= ,.�.?5 ,.�.?2

3� �	 ����� �	 ��
����
�� � �	 ���
���

3.162 <
√

10 < 3.163.

# 	 
 �	 ��� � ��� �
 ��� 	 ��� 
�
���!��� ��
 � � ���	 ��

������3.1622 <
√

10 < 3.1623� # 	 ��	 
 
 � �

�	 ���� ���	 ����	 ��
√

10 
 �������
 !�� �� ������������

� 	 ��	 � 
�
 �	 � 3��	 �����	 ����	 ����� �	 
�
√

10 ≈
3.16227766�

# 	 �	 �����	 ����� ��
 � � � ��	 ��� �� ��
	 �	 ���� ��	 �


	 � B����
 � � 
 �	 ���	 � ��
 � � ���
����	 
� ��	 �

��	 � � ���
 	 � ���
 ,.� � 	 ����� 
 � � � ����� ����

��� � �����
��
	 ������	 �	 ����������	 ����� ��	 � ���

��� # 	 � ��� 
��� �	 ��	 � ���� ��
������ � ����� �

���
����	 
� 3.52 = 12.25 �
 �� 
� � ���� ,. ��
 ��

��	 ����	 
� 3 <
√

10 < 3.5�� 	 � ���� ���	 ����	 ��

3.32 = 10.89���	 �� �	 �
� ��� �� ������� � ��	 �

� ���� ��
�������

����
� 
�� 
���� ��� ����" �

$ �	 
� � ����	 
	 �� 
����
�	 ��	 �	 ��!�� �	 �����
 ��

�����
� 	 � ���
�� 	 ��
� �� � �������� � ������# 	 
�

���
� 
� 
� � ���
 �	 �������� ��	 � ��� 
��	 �

������� �
 3��	 ����	 

√

28�

%��
���
√

25 <
√

28 <
√

36 � 	 �	 ��
����
�� � �	


� 5 <
√

28 < 6� + 	 �� 
� ���
 :9 ������ ���
� :/

���� ���
� 5=�� �
 	 �!��� �
√

28 = 5 + x���
� 
�

0 < x < 1�

+ �	 ����	 
� � �	 �� 
���	 ��
 �'

28 = (5 + x)2

28 = 25 + 10x + x2.

+ 	 �� 
� 0 < x < 1�
��
����	 !�� ����0 < x2 < x�

<���	 !��� � �	 ��� 	 ����x2 �� ����
�� � ����	 ��� 
���

�	 �����

28 = 25 + 10x

10x = 3

x =
3
10

.

�	 ��
����
�� � �	 
�
√

28 ≈ 5 +
3
10

≈ 53
10

≈ 5.3�

 	 ����	 
�!���	 �	 ����	 ���������� � �	 
�

√
28 ≈ 5.291502622.

� � �	 ������� 
�����
 	 
 ��� �	 �����
	 �	 
�!�	 	 � ����


�� 	 ��
	 E

������� �
 3��	 ����	 

√

46�

%��
���
√

36 <
√

46 <
√

49 � 	 �	 ��
����
�� �

6 <
√

46 < 7� + 	 �� 
� ���
 ?= ������ ���
� ?2

���� ���
� 5=�� �
 	 �!��� �
√

46 = 7 − x���
� 
�

0 < x < 1�

-�	 ������ � �
 ��� ��� �	 � � � ��������� � ��� �


���� ����� !��� � x =
3
14

� ����
��
√

46 ≈
95
14

≈ 6.78571� 	 ����	 
�!���	 ����	 ����� �����
��

� �
√

46 ≈ 6.78233 � 	 ����� � �	 
� ��� 
���	

	 � ���
�� 	 ��
	 
 �������
 !�� 10−2�

�	 �
 �� 
 � � � ��	 � ��� 
��	 ���	 ���	 � �
 �
��
 ��
	 �

���
��
��� �������� ���� � 	 �
��� ����
�� ��!���

����
��	 F ;	 
 � � ������������ �� :�� ��� 
���

��1 ���� ! "����
	 # �"��	 �	 
�$%#&�



√
28 = 6 − x�� 5�� ��� 
���

√
46 = 6 + x��	 � ����


�� 	 ��
	 ���	 � ���	 ���
�
	 
�� 
� x2 � ��� �	 ������ 	

��� ��!���� x2 � �	 ������ 	 � � ��� 
���� 	 �

�	 ��� �
��� 
� �	 
 � ��� � ����� � ���	 �	 ��8	 �������

� ��
� ��	 � 5/.. �����	 �	 3���
��
� 
� �� 	 ���	 � �
 	 ��

� 
����
�� 
 ����� ��
��	 ������ ����� ���������
�̄���


 � 
 ���� 
 �� ��
 ���� 	 �	 !<�	 ��	 ����	 �����
�������


� � �	 � ���� ���	 �	 �� 3 
����������∗ 
 � 
� ����
����

&��� ����
√

N =
√

a2 ± b ≈ a ± b
2a

�

3� 	 ��� ���	 �� 
 ��������� 	 ���
� 
� � ��	 �	 ��� �����

��	 ����	 �
	 ����� 	 �	 �� �	 �����
�� �������

 �� ���

���� &��� ����
�� 
� �� �	 �� �	 � ����	 � ���� �
 ����
�

�����	 �� ���	 �	 �
� 
 � �
� �� � ��������� �	 ����	 �
��

�	 � ���
	 �
 ��
��
� � ��
�� 
� ��
��� ��	 �
 �� ���	 ��	 �

�	 ����� �
 �	 � � �������	 ��	 �����

$������� " ���
�

!���" ���
� � �������� 
�� 
�� �� #

$ �	 
� � ����	 ��� ��
��	 ���� ����

 ��
 ������ �

���	 ��
���	 ��	 �	 ���
	 � $ ���
��� ��� ��
�
� �	

�������	 �
� ���
���
��	 ����a ��	 ��	 �	 ��
�� � ��	 �

� � � ����
��� P�"����� �
 ��	 ��&��� ��	 � � ��� � �	 ���

������	 �� ��
�� 
��	 � ���
�� ��	 
� �	 �� � ����
����

"��� �
 �� � ��	 � � ��������
�
���� ��� ��
�� 
� ��
��

��� ���
��	 �	 �	 ����	 �����������	 ������
�����
�
�

��
������ ��	 ������ ������	 �	 �# 	 ����� � �	 
 ���
x0�

� 	 � 
� ���
��	 ����� 
��	 ���� � �	 ��������	 ��
�� �


� � ����
��	 P 
���	 �	 y0 =
P
x0

�B���(���	 
� � 
 	 �

�	 � 	 �� �	 
� �	 �������� �	 �� �	 � � � 	 �� 
 � 	 �
�� �


���� 
��	 �����	 � 	 �� � ���!�	 � � ����� 
 ��	 �����

�� 
� �	 
�	 ��
 � �	 � �	 �����	 �� �	 �	 
���� 
��	 ����

�	 ����	 � � 	 ���� ������� 
 ������ x1 =
x0 + y0

2
�	 ����

�� 
��	 ���� �	 ����	 � � y1 =
P
x1

�� 	 
 � �
 ��� 	 � � ���

� 
��
�
�� � ��� �� ����� � �� �	 �����
	 �	 
�!���

������	 �	 ��	 ������	 �!��� � �����yn�

$ �	 
 
� 	 ������	 � ������ �	 � ���	 �	 ��� �	 ��������

�������"��	 ���� � �� �	 � ��� 
����

������� �
 3��	 ����	 

√

71�

� �	 ���� ���	 �������
��� 
��	 ���� ��	 ��	 �	 ���
	 
� � ��

���
��	 
���	 �	 C,� "���	 ���� � �	 ������� � ��������

�� �
 	 ��	 ������	 � �

$ ������ � � ������� 	 � ���
�� 	 ��
�� + 	 �� 
� 8 <√
71 < 9� ���� 	 � � �	 
� x0 = 8 �� �	 ����	 � �

y0 =
71
8

≈ 8.875�

n xn yn

0 8
P
x0

=
71
8

= 8.875

1
x0 + y0

2
= 8.4375

P
x1

=
71

8.4375
≈ 8.41481

2
x1 + y1

2
≈ 8.426155

P
x2

=
71

8.426155
≈ 8.426145

+ 	 �� 
� � 	 �	 �	 ����	 ��� ��� x2 �y2� � ����� � �	 �

��
�������	 
� ��	 �����������	 ��	 �	 ����� ��� ��� ��	 
�

���
	 �� � ��
 �� �
√

71 ≈ 8.426145� +����
 ���
��

�	 ����	 ���	 
 	 ��	 
�� �
√

71 ≈ 8.42614977 � 	 �	 �

��
����
�� � �	 
 � � �����������
�� ����� 	 � ���
��

� 	 ��
��

"��� �
���� � �	 
 � � ���� � ������ 
	 �� ���� ���
��

�� ���	 �	 �	 � 
 � xn �� ��� 	 ���yn � 	 �� �	 �����
��

������ 
� ��	 
 �	 �	 �	 � �	 � �	 ������	 �	 
 �	 �����

&��� 	 ���� � �����	 ��� ����	 � 	 �	 �������� � ���	 ����	

��� �� B< 1G���� $ $ D 	 ��� @ ��@ ���	 � �	 � 
�

���	 ��
� �����
 ���
� &��� ��	 ����	 ����� ��� ��	 �
� &���

� ��	 �� (�
��	 �
� 
����� � ��
	 � &��� ���� $ 
��

���	 ���	 
 � � ����	 � ���� ����
������ �	 
�	 ��� ����

�	 � ��	 �
	 � ���� ��
�� � ����	 � 
 ��� 
����� �	 � 
�

���	 ��
� � ���
��
 ��� �	 �	 � � ��	 � � �	 �	 ������


� ������
�!��� � 
 � 	 ��	 ��� ����	 ��
���� ��	 � ��� 
���

10−3���10−5��

∗ ' ��(���� 
	 �� �	 �� � ��	 �� 
������� ������	�̄��� � �� 	 
	 
������� �����
	 ����
	 
	 ��

� �� �� �	 ����
������������� >��� ��������
�
� ��
� ���� �� �	 �����	 �� *
������ ���(���>��� ��� �� �	 ����
	 �	 �

��2



����� ���� 	 	
������
	

%������������� ��
�

<�	 �	 �� �� �
 	 ��� � ����	 � ���� 
� ����
������	

�	 ����	 �
� ���
����
������
��	 ���
 �� ���	 �"����� �

����	 ������ ����� �������� � ��� 
����

# 	 � ��� 
��� � ����	 ��	 ����	 �
	 ����� 	 � �
 �	 � !��

� ����	 �����	 �
	 ����� 	 � "��� 
��
�
�!���� � ����

�� �	 ��� 	 ���!�� 
� ��	 � ��	 ���	 �	 ���
�
 	 ����� x2 �

x3������ � !�� ��������	 	 � ���
�� 	 ��
	 �������
�
	 �� 	


 � � ����	 � ���� � ��	 �	 ����������� 	 � ,��	 �����

< �< �	 ������	 �� ���	 ����� 	 �+���
��� ��������� �

���
�� ���	 ��
� � ���� ��� � ?��	 ����� < �< �	 ���

�
 �� ���	 �� ����� ��� ����	 ��-����	 �
� 
� � ��	 ���

�����	 ����	 �	 
� �	 ����
��� ���
�� ���	 ��	 � ����	


	 �� ��� ����	 �	 �

H ������� � ����� �	 ����� 
� � ���� � ��� !��������

��
�����	 �	 ����	 �
� ������ ����
��	 � # 	 � ��� 
���

�	 �	 ����	 �
� ���!��� ����
��	 �	 � �
��� � �	 �� 	 �

� � ����� �	 �	 ��� ����� ��	 �� ��	 ���� � ���
���

����	 � "����� &��� ��	 � � ��� ��	 �	 �	 �	 
����	 �

�	 ���� �	 � � �� �
 	 ��
 � ������ 
 ��� �	 !�� 
� �


 �	 ��
 	 � ���
�� 	 ��
�n > 0 ������	 
� xn =
xn−1 + yn−1 + zn−1

3
, yn = xn, zn =

V
xnyn

�

	 � ������� ���
����
��	 x0 ������
�� � �	 	 �	 ���

�	 ��	 �����	 � �� H �������
 � ������	 �	 ����	 �
�

������ ����
��	 �

& �
� 
�	�� " ���
�

� ���������
�!�� 
����� �	 �	 
 �����	 ��� 	 ��� 	 ����

����������������&	 ��������� 	 �!�� ������
# �� ������	

� 	 ��� 	 ���	 �# 	 ��� 
 � ������
� ���	 ��
� 
��
 ���

�� � ����� �� � �� �!� ��
�� 
� � ���� ��������� ���

������	 ���
����
�����
��	 � # 	 � ��� 
��� � ����	 ���

���� ���
��# �I �����	 � ����	 �� ����	 �	 ������� J

� ��
�
 
� ���
 � � ���� � ������	 ��� 4:6� � ����	 
��

�	 ���������	 � �	 ������� �� ��� � ����	 � ��� 
�

���	 �����	 ���	 ���
�	 
 �	 ��� 	 ��� 	 ���� � ?��	 ��

���� �	 ������	 ���	 �
	 �����	 ��
	 � "����� 
� �	 �

�	 �	 � �������	 �
	 � ��������� ���
����
������
��	 
 ���

���	 �	 �	 �	 �' $ ������ �������� ���������� &�����
�

f (x) = x2 − a� <�� 
� �� � ����� �� ��� �������

� 	 ��� 	 ���� ����
�� � �	 ����	 �
��� �� �� �	 �� ��� � ��

���	 � 	 �	 ����	 �� ������
� � ��������� ���
����
����

��
��	 �

�	 �	 �	 � � ���������� �������	 �
� ���
����
������
��	
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